



Falling Shadow Theory Applied to UP-Algebras

Young Bae Jun[†], Kyoung Ja Lee[‡] and Aiyared Iampan^{§,1}

[†]Department of Mathematics Education
Gyeongsang National University, Jinju 52828, Korea
e-mail : skywine@gmail.com

[‡]Department of Mathematics Education
Hannam University, Daejeon 306-791, Korea
e-mail : lsj1109@hotmail.com

[§]Department of Mathematics, School of Science
University of Phayao, Phayao 56000, Thailand
e-mail : aiyared.ia@up.ac.th

Abstract : Based on the theory of fuzzy sets and falling shadows, the notion of a falling UP-subalgebra and a falling UP-ideal of a UP-algebra is introduced, and several properties are investigated. Relations between falling UP-subalgebras and falling UP-ideals are given. Relations between fuzzy UP-subalgebras (resp., fuzzy UP-ideals) and falling UP-subalgebras (resp., falling UP-ideals) are established.

Keywords : UP-subalgebra; UP-ideal; falling UP-subalgebra; falling UP-ideal.

2010 Mathematics Subject Classification : 06F35; 03G25; 08A72.

1 Introduction

In the study of a unified treatment of uncertainty modeled by means of combining probability and fuzzy set theory, Goodman [1] pointed out the equivalence of a fuzzy set and a class of random sets. Wang and Sanchez [2] introduced the theory of falling shadows which directly relates probability concepts with the membership

¹Corresponding author.

function of fuzzy sets. Falling shadow representation theory shows us the way of selection relaid on the joint degrees distributions. It is reasonable and convenient approach for the theoretical development and the practical applications of fuzzy sets and fuzzy logics. The mathematical structure of the theory of falling shadows is formulated in [3]. Tan et al. [4, 5] established a theoretical approach to define a fuzzy inference relation and fuzzy set operations based on the theory of falling shadows. Jun and Park [6] discussed the notion of a falling fuzzy subalgebra/ideal of a BCK/BCI-algebra. Yuan and Lee [7] considered a fuzzy subgroup (subring, ideal) as the falling shadow of the cloud of the subgroup (subring, ideal).

In this paper, we establish a theoretical approach for defining a fuzzy UP-subalgebras and fuzzy UP-ideals in a UP-algebra based on the theory of falling shadows. We provide relations between falling UP-subalgebras and falling UP-ideals. We also consider relations between fuzzy UP-subalgebras (resp., fuzzy UP-ideals) and falling UP-subalgebras (resp., falling UP-ideals), and investigate several properties.

2 Preliminaries

Definition 2.1 ([8]). An algebra $X = (X, \cdot, 0)$ of type $(2, 0)$ is called a *UP-algebra* if it satisfies the following conditions.

$$(\forall x, y, z \in X)((y \cdot z) \cdot ((x \cdot y) \cdot (x \cdot z)) = 0), \quad (2.1)$$

$$(\forall x \in X)(0 \cdot x = x), \quad (2.2)$$

$$(\forall x \in X)(x \cdot 0 = 0), \quad (2.3)$$

$$(\forall x, y \in X)(x \cdot y = 0 = y \cdot x \Rightarrow x = y). \quad (2.4)$$

Proposition 2.2 ([8, 9]). *In a UP-algebra X , the following assertions are valid.*

$$(\forall x \in X)(x \cdot x = 0), \quad (2.5)$$

$$(\forall x, y, z \in X)(x \cdot y = 0, y \cdot z = 0 \Rightarrow x \cdot z = 0), \quad (2.6)$$

$$(\forall x, y \in X)(x \cdot y = 0 \Rightarrow (z \cdot x) \cdot (z \cdot y) = 0), \quad (2.7)$$

$$(\forall x, y \in X)(x \cdot y = 0 \Rightarrow (y \cdot z) \cdot (x \cdot z) = 0), \quad (2.8)$$

$$(\forall x, y \in X)(x \cdot (y \cdot x) = 0), \quad (2.9)$$

$$(\forall x, y \in X)((y \cdot x) \cdot x = 0 \Leftrightarrow x = y \cdot x), \quad (2.10)$$

$$(\forall x, y \in X)(x \cdot (y \cdot y) = 0). \quad (2.11)$$

$$(\forall a, x, y, z \in X)((x \cdot (y \cdot z)) \cdot (x \cdot ((a \cdot y) \cdot (a \cdot z))) = 0), \quad (2.12)$$

$$(\forall a, x, y, z \in X)((((a \cdot x) \cdot (a \cdot y)) \cdot z) \cdot ((x \cdot y) \cdot z) = 0), \quad (2.13)$$

$$(\forall x, y, z \in X)((x \cdot y) \cdot z \cdot (y \cdot z) = 0), \quad (2.14)$$

$$(\forall x, y, z \in X)(x \cdot y = 0 \Rightarrow x \cdot (z \cdot y) = 0), \quad (2.15)$$

$$(\forall x, y, z \in X)((x \cdot y) \cdot z \cdot (x \cdot (y \cdot z)) = 0), \quad (2.16)$$

$$(\forall a, x, y, z \in X)((x \cdot y) \cdot z \cdot (y \cdot (a \cdot z)) = 0). \quad (2.17)$$

Definition 2.3 ([8]). A nonempty subset A of X is called a *UP-subalgebra* of X if it satisfies the following condition.

$$(\forall x, y \in X)(x \in A, y \in A \Rightarrow x \cdot y \in A). \quad (2.18)$$

Definition 2.4 ([8]). A subset A of X is called a *UP-ideal* of X if it satisfies the following conditions.

$$0 \in A, \quad (2.19)$$

$$(\forall x, y, z \in X)(x \cdot (y \cdot z) \in A, y \in A \Rightarrow x \cdot z \in A). \quad (2.20)$$

Definition 2.5 ([10]). A fuzzy set λ in a UP-algebra X is called a *fuzzy UP-subalgebra* of X if the following condition is valid.

$$(\forall x, y \in X)(\lambda(x \cdot y) \geq \min\{\lambda(x), \lambda(y)\}). \quad (2.21)$$

Definition 2.6 ([10]). A fuzzy set λ in a UP-algebra X is called a *fuzzy UP-ideal* of X if the following conditions are valid.

$$(\forall x \in X)(\lambda(0) \geq \lambda(x)), \quad (2.22)$$

$$(\forall x, y, z \in X)(\lambda(x \cdot z) \geq \min\{\lambda(x \cdot (y \cdot z)), \lambda(y)\}). \quad (2.23)$$

3 Falling UP-Subalgebras and Falling UP-Ideals

We first display the basic theory on falling shadows. We refer the reader to the papers [1–5] for further information about the theory of falling shadows.

Given a universe of discourse U , let $\mathcal{P}(U)$ denote the power set of U . For each $u \in U$, let

$$\ddot{u} := \{E \mid u \in E \text{ and } E \subseteq U\}, \quad (3.1)$$

and for each $E \in \mathcal{P}(U)$, let

$$\ddot{E} := \{\ddot{u} \mid u \in E\}. \quad (3.2)$$

An ordered pair $(\mathcal{P}(U), \mathcal{B})$ is said to be a *hyper-measurable structure* on U if \mathcal{B} is a σ -field in $\mathcal{P}(U)$ and $\ddot{U} \subseteq \mathcal{B}$. Given a probability space (Ω, \mathcal{A}, P) and a hyper-measurable structure $(\mathcal{P}(U), \mathcal{B})$ on U , a *random set* on U is defined to be a mapping $\xi : \Omega \rightarrow \mathcal{P}(U)$ which is \mathcal{A} - \mathcal{B} measurable, that is,

$$(\forall C \in \mathcal{B})(\xi^{-1}(C) = \{\omega \mid \omega \in \Omega \text{ and } \xi(\omega) \in C\} \in \mathcal{A}). \quad (3.3)$$

Suppose that ξ is a random set on U . Let

$$\tilde{\alpha}(u) := P(\omega \mid u \in \xi(\omega)) \text{ for each } u \in U.$$

Then $\tilde{\alpha}$ is a kind of fuzzy set in U . We call $\tilde{\alpha}$ a *falling shadow* of the random set ξ , and ξ is called a *cloud* of $\tilde{\alpha}$.

For example, $(\Omega, \mathcal{A}, P) = ([0, 1], \mathcal{A}, m)$, where \mathcal{A} is a Borel field on $[0, 1]$ and m is the usual Lebesgue measure. Let $\tilde{\alpha}$ be a fuzzy set in U and $\tilde{\alpha}_t := \{u \in U \mid \tilde{\alpha}(u) \geq t\}$ be a t -cut of $\tilde{\alpha}$. Then

$$\xi : [0, 1] \rightarrow \mathcal{P}(U), \quad t \mapsto \tilde{\alpha}_t$$

is a random set and ξ is a cloud of $\tilde{\alpha}$. We shall call ξ defined above as the *cut-cloud* of $\tilde{\alpha}$ (see [1]).

In what follows let X denote a UP-algebra unless otherwise.

Definition 3.1. Let (Ω, \mathcal{A}, P) be a probability space, and let

$$\xi : \Omega \rightarrow \mathcal{P}(X)$$

be a random set. If $\xi(\omega)$ is a UP-ideal (resp., a UP-subalgebra) of X for any $\omega \in \Omega$, then the falling shadow $\tilde{\alpha}$ of the random set ξ , i.e.,

$$\tilde{\alpha}(x) = P(\omega \mid x \in \xi(\omega)) \quad (3.4)$$

is called a *falling UP-ideal* (resp., *falling UP-subalgebra*) of X .

Example 3.2. Consider a UP-algebra $X = \{0, a, b, c, d\}$ with the binary operation “.” which is given in the following table.

·	0	a	b	c	d
0	0	a	b	c	d
a	0	0	b	c	d
b	0	0	0	c	d
c	0	0	b	0	d
d	0	0	0	0	0

(1) Let $(\Omega, \mathcal{A}, P) = ([0, 1], \mathcal{A}, m)$ and let

$$\xi : [0, 1] \rightarrow \mathcal{P}(X), \quad t \mapsto \begin{cases} \{0, a\} & \text{if } t \in [0, 0.4), \\ \{0, b, c, d\} & \text{if } t \in [0.4, 1]. \end{cases} \quad (3.5)$$

Then $\xi(t)$ is a UP-subalgebra of X for all $t \in [0, 1]$. Hence $\tilde{\alpha}$ is a falling UP-subalgebra of X , and

$$\tilde{\alpha}(x) = \begin{cases} 0.4 & \text{if } x = a, \\ 0.6 & \text{if } x \in \{b, c, d\}, \\ 1 & \text{if } x = 0. \end{cases} \quad (3.6)$$

(2) Let $(\Omega, \mathcal{A}, P) = ([0, 1], \mathcal{A}, m)$ and let

$$\zeta : [0, 1] \rightarrow \mathcal{P}(X), \quad t \mapsto \begin{cases} \{0, a, c\} & \text{if } t \in [0, 0.3), \\ \{0, a, b\} & \text{if } t \in [0.3, 0.8), \\ \{0, d\} & \text{if } t \in [0.8, 1]. \end{cases} \quad (3.7)$$

Then $\zeta(t)$ is a UP-subalgebra of X for all $t \in [0, 1]$. Hence $\tilde{\alpha}$ is a falling UP-subalgebra of X , and

$$\tilde{\alpha}(x) = \begin{cases} 0.8 & \text{if } x = a, \\ 0.5 & \text{if } x = b, \\ 0.3 & \text{if } x = c, \\ 0.2 & \text{if } x = d, \\ 1 & \text{if } x = 0. \end{cases} \quad (3.8)$$

For any $t \in [0.8, 1]$, $\zeta(t) = \{0, d\}$ is not a UP-ideal of X since $a \cdot (d \cdot b) = a \cdot 0 = 0 \in \{0, d\}$, but $a \cdot b = b \notin \{0, d\}$. Hence $\tilde{\alpha}$ is not a falling UP-ideal of X .

Theorem 3.3. *Every falling UP-ideal is a falling UP-subalgebra.*

Proof. Let $\tilde{\alpha}$ be a falling UP-ideal of X . Then $\xi(\omega)$ is a UP-ideal of X . Let $x, y \in \xi(\omega)$. Then $x \cdot (y \cdot y) = 0 \in \xi(\omega)$ by (2.11) and (2.19). It follows from (2.20) that $x \cdot y \in \xi(\omega)$. Hence $\xi(\omega)$ is a UP-subalgebra of X , and therefore $\tilde{\alpha}$ is a falling UP-subalgebra of X . \square

Example 3.2(2) shows that the converse of Theorem 3.3 is not true in general. Let (Ω, \mathcal{A}, P) be a probability space and let

$$F(X) := \{f \mid f : \Omega \rightarrow X \text{ is a mapping}\}.$$

Define an operation \odot on $F(X)$ by

$$(\forall \omega \in \Omega) ((f \odot g)(\omega) = f(\omega) \cdot g(\omega))$$

for all $f, g \in F(X)$. Let $\theta \in F(X)$ be defined by $\theta(\omega) = 0$ for all $\omega \in \Omega$. It can be easily checked that $(F(X); \odot, \theta)$ is a UP-algebra.

For any subset A of X and $f \in F(X)$, let

$$A_f := \{\omega \in \Omega \mid f(\omega) \in A\} \quad (3.9)$$

and

$$\xi : \Omega \rightarrow \mathcal{P}(F(X)), \omega \mapsto \{f \in F(X) \mid f(\omega) \in A\}. \quad (3.10)$$

Then $A_f \in \mathcal{A}$.

Theorem 3.4. *If A is a UP-subalgebra (resp., UP-ideal) of X , then*

$$\xi(\omega) = \{f \in F(X) \mid f(\omega) \in A\} \quad (3.11)$$

is a UP-subalgebra (resp., UP-ideal) of $F(X)$ for any $\omega \in \Omega$.

Proof. Let $\omega \in \Omega$. Assume that A is a UP-subalgebra of X . Let $f, g \in \xi(\omega)$. Then $f(\omega) \in A$ and $g(\omega) \in A$, and so

$$(f \odot g)(\omega) = f(\omega) \cdot g(\omega) \in A.$$

Hence $f \odot g \in \xi(\omega)$, and therefore $\xi(\omega)$ is a UP-subalgebra of X . Assume that A is a UP-ideal of X . Since $\theta(\omega) = 0 \in A$, we know that $\theta \in \xi(\omega)$. Let $f, g, h \in F(X)$ be such that $f \odot (g \odot h) \in \xi(\omega)$ and $g \in \xi(\omega)$. Then $g(\omega) \in A$ and

$$f(\omega) \cdot (g(\omega) \cdot h(\omega)) = (f \odot (g \odot h))(\omega) \in A.$$

It follows from (2.20) that $(f \odot h)(\omega) = f(\omega) \cdot h(\omega) \in A$ and so that $f \odot h \in \xi(\omega)$. Therefore $\xi(\omega)$ is a UP-ideal of $F(X)$. \square

Since

$$\xi^{-1}(\check{f}) = \{\omega \in \Omega \mid f \in \xi(\omega)\} = \{\omega \in \Omega \mid f(\omega) \in A\} = A_f \in \mathcal{A}, \quad (3.12)$$

we can see that ξ is a random set on $F(X)$. Let

$$\tilde{\alpha}(f) = P(\omega \mid f(\omega) \in A). \quad (3.13)$$

Then $\tilde{\alpha}$ is a falling UP-subalgebra (resp., falling UP-ideal) of $F(X)$.

Theorem 3.5. *Every fuzzy UP-subalgebra (resp., fuzzy UP-ideal) of X is a falling UP-subalgebra (resp., falling UP-ideal) of X .*

Proof. Consider the probability space $(\Omega, \mathcal{A}, P) = ([0, 1], \mathcal{A}, m)$ where \mathcal{A} is a Borel field on $[0, 1]$ and m is the usual Lebesgue measure. Let λ be a fuzzy UP-subalgebra (resp., fuzzy UP-ideal) of X . Then λ_t is a UP-subalgebra (resp., UP-ideal) of X for all $t \in [0, 1]$. Let

$$\xi : [0, 1] \rightarrow \mathcal{P}(X), \quad t \mapsto \lambda_t$$

be a random set. Then λ is a falling UP-subalgebra (resp., falling UP-ideal) of X . \square

Let (Ω, \mathcal{A}, P) be a probability space and let $\tilde{\alpha}$ be a falling shadow of a random set $\xi : \Omega \rightarrow \mathcal{P}(X)$. For any $x \in X$, let

$$\Omega_\xi(x) = \{\omega \in \Omega \mid x \in \xi(\omega)\}.$$

Then $\Omega_\xi(x) \in \mathcal{A}$.

Proposition 3.6. *Let $\tilde{\alpha}$ be a falling shadow of a random set $\xi : \Omega \rightarrow \mathcal{P}(X)$. If $\tilde{\alpha}$ is a falling UP-subalgebra of X , then*

$$(\forall x, y \in X) (\Omega_\xi(x) \cap \Omega_\xi(y) \subseteq \Omega_\xi(x \cdot y)). \quad (3.14)$$

Proof. Let $\omega \in \Omega_\xi(x) \cap \Omega_\xi(y)$. Then $x \in \xi(\omega)$ and $y \in \xi(\omega)$. Since $\xi(\omega)$ is a UP-subalgebra of X , it follows from (2.18) that $x \cdot y \in \xi(\omega)$ and so $\omega \in \Omega_\xi(x \cdot y)$. Therefore (3.14) is valid. \square

Proposition 3.7. *Let $\tilde{\alpha}$ be a falling shadow of a random set $\xi : \Omega \rightarrow \mathcal{P}(X)$. If $\tilde{\alpha}$ is a falling UP-ideal of X , then*

$$(\forall x, y, z \in X) (\Omega_\xi(x \cdot (y \cdot z)) \cap \Omega_\xi(y) \subseteq \Omega_\xi(x \cdot z)). \quad (3.15)$$

Proof. If $\omega \in \Omega_\xi(x \cdot (y \cdot z)) \cap \Omega_\xi(y)$, then $x \cdot (y \cdot z) \in \xi(\omega)$ and $y \in \xi(\omega)$. Since $\xi(\omega)$ is a UP-ideal of X , we have $x \cdot z \in \xi(\omega)$. Hence $\omega \in \Omega_\xi(x \cdot z)$ which shows that (3.15) is valid. \square

For any $s, t \in [0, 1]$, let $T_m(s, t) := \max\{0, s + t - 1\}$.

Theorem 3.8. *If $\tilde{\alpha}$ is a falling UP-subalgebra of X , then*

$$(\forall x, y \in X) (\tilde{\alpha}(x \cdot y) \geq T_m(\tilde{\alpha}(x), \tilde{\alpha}(y))). \quad (3.16)$$

Proof. If $\tilde{\alpha}$ is a falling UP-subalgebra of X , then $\xi(\omega)$ is a UP-subalgebra of X for any $\omega \in \Omega$. Hence

$$\{\omega \in \Omega \mid x \in \xi(\omega)\} \cap \{\omega \in \Omega \mid y \in \xi(\omega)\} \subseteq \{\omega \in \Omega \mid x \cdot y \in \xi(\omega)\},$$

and so

$$\begin{aligned} \tilde{\alpha}(x \cdot y) &= P(\omega \mid x \cdot y \in \xi(\omega)) \\ &\geq P(\{\omega \mid x \in \xi(\omega)\} \cap \{\omega \mid y \in \xi(\omega)\}) \\ &\geq P(\omega \mid x \in \xi(\omega)) + P(\omega \mid y \in \xi(\omega)) - P(\omega \mid x \in \xi(\omega) \text{ or } y \in \xi(\omega)) \\ &\geq \tilde{\alpha}(x) + \tilde{\alpha}(y) - 1. \end{aligned}$$

Hence

$$\tilde{\alpha}(x \cdot y) \geq \max\{0, \tilde{\alpha}(x) + \tilde{\alpha}(y) - 1\} = T_m(\tilde{\alpha}(x), \tilde{\alpha}(y)),$$

and the proof is completed. \square

Theorem 3.9. *Every falling UP-ideal $\tilde{\alpha}$ of X satisfies the following condition.*

$$(\forall x, y, z \in X) (\tilde{\alpha}(x \cdot z) \geq T_m(\tilde{\alpha}(x \cdot (y \cdot z)), \tilde{\alpha}(y))). \quad (3.17)$$

Proof. Let $\tilde{\alpha}$ be a falling UP-ideal of X . Then $\xi(\omega)$ is a UP-ideal of X for any $\omega \in \Omega$, and thus

$$\{\omega \in \Omega \mid x \cdot (y \cdot z) \in \xi(\omega)\} \cap \{\omega \in \Omega \mid y \in \xi(\omega)\} \subseteq \{\omega \in \Omega \mid x \cdot z \in \xi(\omega)\}.$$

It follows that

$$\begin{aligned} \tilde{\alpha}(x \cdot z) &= P(\omega \mid x \cdot z \in \xi(\omega)) \\ &\geq P(\{\omega \mid x \cdot (y \cdot z) \in \xi(\omega)\} \cap \{\omega \mid y \in \xi(\omega)\}) \\ &\geq P(\omega \mid x \cdot (y \cdot z) \in \xi(\omega)) + P(\omega \mid y \in \xi(\omega)) \\ &\quad - P(\omega \mid x \cdot (y \cdot z) \in \xi(\omega) \text{ or } y \in \xi(\omega)) \\ &\geq \tilde{\alpha}(x \cdot (y \cdot z)) + \tilde{\alpha}(y) - 1. \end{aligned}$$

Therefore

$$\begin{aligned}\tilde{\alpha}(x \cdot z) &\geq \max\{0, \tilde{\alpha}(x \cdot (y \cdot z)) + \tilde{\alpha}(y) - 1\} \\ &= T_m(\tilde{\alpha}(x \cdot (y \cdot z)), \tilde{\alpha}(y)).\end{aligned}$$

This completes the proof. \square

4 Conclusion

We have established some connections between fuzzy mathematics and probability theory via the fuzzy UP-ideals and the fuzzy UP-ideals of UP-algebras. As an algebraic approach of the theory of falling shadows, we have introduced the notion of falling UP-subalgebras and falling UP-ideal in UP-algebras. We have discussed relations between falling UP-subalgebras and falling UP-ideals. We have also provided relations between fuzzy UP-subalgebras (resp., fuzzy UP-ideals) and falling UP-subalgebras (resp., falling UP-ideals). On the basis of these results, we will apply the theory of falling shadows to the another type of ideals, filters and deductive systems in BCK/BCI-algebras, KU-algebras and SU-algebras, etc., in future study.

References

- [1] I.R. Goodman, Fuzzy Sets as Equivalence Classes of Random Sets, in “Recent Developments in Fuzzy Sets and Possibility Theory”(R. Yager, Ed.), Pergamon, New York, 1982.
- [2] P.Z. Wang, E. Sanchez, Treating a Fuzzy Subset as a Projectable Random Set, in: M.M. Gupta, E. Sanchez, Eds., “Fuzzy Information and Decision”, Pergamon, New York, 1982.
- [3] P.Z. Wang, Fuzzy Sets and Falling Shadows of Random Sets, Beijing Normal Univ. Press, People’s Republic of China, 1985. [In Chinese]
- [4] S.K. Tan, P.Z. Wang, E.S. Lee, Fuzzy set operations based on the theory of falling shadows, *J. Math. Anal. Appl.* 174 (1993) 242-255.
- [5] S.K. Tan, P.Z. Wang, X.Z. Zhang, Fuzzy inference relation based on the theory of falling shadows, *Fuzzy Sets and Systems* 53 (1993) 179-188.
- [6] Y.B. Jun, C.H. Park, Falling shadows applied to subalgebras and ideals of BCK/BCI-algebras, *Honam Math. J.* 34 (2) (2012) 135-144.
- [7] X.H. Yuan, E.S. Lee, A fuzzy algebraic system based on the theory of falling shadows, *J. Math. Anal. Appl.* 208 (1997) 243-251.
- [8] A. Iampan, A new branch of the logical algebra: UP-algebras, *J. Algebra Relat. Top.* 5 (1) (2017) 35-54.

- [9] A. Iampan, Introducing fully UP-semigroups, *Discuss. Math., Gen. Algebra Appl.* 38 (2) (2018) 297-306.
- [10] J. Somjanta, N. Thuekaew, P. Kumpeangkeaw, A. Iampan, Fuzzy sets in UP-algebras, *Annal. Fuzzy Math. Inform.* 12 (6) (2016) 739-756.

(Received 7 August 2017)

(Accepted 4 February 2019)